
Little Cottage Co.
PO Box 455

Berlin, OH 44610
330-893-4212

www.cottagekits.com

© 2008-2009 Little Cottage Co. 

6x6 Hunting Blind Manual

®

Tools Needed:
	 -Cordless Drill (12V or higher)
	 -#2 Square Drive Bit
	 -Hammer
	 -Tape Measure
	 -Speed Square



6x6 Hunting Blind Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 1

1 2

3 4

5 6

Thank you for purchasing from Little Cottage Co.

To begin locate your 2x4’s for the floor frame.

You will have 6 pieces for the rim, which are cut 
on an angle at both ends. (4) 2x4 joists and (2) 
4x4 runners

Fasten (6) pieces of rim as shown and secure with 
2 1/2” screws (2) per side.

Next install joist as shown.  Rims are marked for 
joist placement.  Secure with (2) 2 1/2” screws on 
each end.

Install as shown.  Your 2x4 Rim is marked for 
4x4 runner placement.

Secure with (2) 2 1/2” screws on each side.



6x6 Hunting Blind Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 2

7 8

9 10

11 12

Continue with 2 1/2” screws securing 2x4 Floor 
into 4x4 
runners.

Next make sure all corners measure the same as 
shown.

Once all corners measure the same, Fasten the 
rest of 2x4 joist into 4x4’s as shown with 2 1/2” 
screws.

Next locate CDX plywood flooring with angles 
cut on all corners.  Plywood is designed to fit the 
floor.

Secure with 1 1/4” screws 8” on cemter. Continue fastening the floor.



6x6 Hunting Blind Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 3

13 14

15 16

17 18

Next Locate Triangle floor pieces. Secure with 1 1/4” screws.

Locate wall panel with door.
Secure with 2 1/2” screws on each corner.

Make sure wall is pushed against the floor before 
fastening.

Continue with each wall section.



6x6 Hunting Blind Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 4

19 20

21 22

23 24

Continue with wall and fasten as shown. To secure top plates fasten with 2 1/2” screws 
into 2x6 top plate.

There are 6 walls total.  Before installing 6th 
panel follow instructions on the next picture.

Remove 2x4 from door on the inside as shown.

Fasten all outside corners on top as shown. Fasten bottom into the floor with 1 1/4” screws 
every 8 “ to 10”.



6x6 Hunting Blind Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 5

25 26

27 28

29 30

Next install Aluminum corners and fasten with 
white finish nails.

Next install small wood strip on top of aluminum 
trim with 1 1/4” screws.

Locate roof rafters. 
The rafters are marked top and bottom.  Make 
sure top is up and secure with 1 1/2” screw as 
shown.

Continue with rafters. Rafters are complete as shown.



6x6 Hunting Blind Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 6

31 32

33 34

35 36

Next lift rafters on top plate as shown. Use angle square and make sure rafter is flush 
with outside edge of 2x6 top plate as shown.

Next install triangle roof pieces.  Secure with 1 
1/4” screws.

Continue with roof.

Install Aluminum Ridge and fasten with white 
finish nail.

Continue with Ridge and fasten every 12” to 14” 
with white trim nails.



6x6 Hunting Blind Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 7

37 38

39 40

41 42

Next locate metal cap for peak and put on a bead 
of caulk.

You will find a cut in the cap. Insert a bead of 
caulk before installing.

Place metal cap on the peak and fasten with white 
trim nails as needed.

Continue with trim nails.

Insert a bead of caulk on the bottom edge of the 
ridge as shown to keep moisture out.

Insert a bead of caulk on the bottom edge of roof 
panel on all 6 sides as shown.



6x6 Hunting Blind Manual 

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 8

43 44

45 46

Next locate door handle. Secure with black head screws.

Install D handle on the inside.

Your Hunting blind assembly is complete, paint 
as you desire.


